Managing the Economy 
Some abbreviations used: X = exports M = imports B of P = balance of payments GDP = gross domestic product 3-1. INTRODUCTION 

1. Why does the government become involved in the economy? • Since John Maynard Keynes’ work, published in the 1930s, we know how we can intervene to reduce unemployment etc., – we have a good theoretical model that helps us to understand how the economy works. Increasingly since World War Two (1939-45) it is seen as a task of the government to intervene and work more actively to improve things in general. Interventionism is now expected. The natural working of the economy can sometimes give undesirable or unacceptable results, such as mass unemployment or inflation. Because what is happening, or government fears is about to happen, is not wanted. For example, inflation is felt to be too high or there is a fear that it will increase; or balance of payments is worsening. 

• 

• 

• 

Note: since the time of Prime Minister Margaret Thatcher (UK) and President Ronald Reagan (US), in the late 1970s and the 1980s, efforts have been made to reduce the amount of government intervention. However, it sometimes seems rather difficult to reduce the share of government in the gross domestic product. The use of freer markets has definitely increased – but the government share of GDP seems to have increased too. 

2. At the micro level: the government wishes to make the market mechanism work better. What main areas of the micro-economy does the government look at or tackle? • • Monopoly elements or market dominance. Externalities. 
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• • • • • • • 

Public goods. Public goods. Merit goods. De-merit goods. Information failures. Factor immobility. Undesirable income and wealth distribution. 

That is, the government looks at all the major elements that we are studying! 

3. At the macro level : the government wishes to modify some important areas. What does the government look at or tackle at the macro level? • • • • Inflation (usually they prefer a low figure, e.g. below 3% ). Unemployment (they usually prefer it to be low, e.g., below 4%). Economic growth (they usually prefer it to be reasonably high, e.g., above 2.5%). Balance of payment (they usually prefer a balance of exports and imports, or perhaps a small export surplus). The value of the currency which means the price of the pound in international markets (politicians usually prefer it to be high, although a lower figure means that industry benefits as our export goods will be cheaper and so easier to sell abroad). Allocation of resources (they usually prefer a market solution but it can be whatever the government feels it wants). Distribution of income (the Labour Party usually prefers a narrow distribution; the Conservative Party perhaps wider? But New Labour seems to accept that a wider distribution of income is quite acceptable). Standard of living (they usually prefer high). Taking care of the environment (a relatively new area of concern). 

• 

• 

• 

• • 
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• 

Unwanted fluctuations in any of the above, e.g., if any are felt to be undesirable at the level they are at, the government may step in and try to alter and improve them. 

How can government try to manage the economy? There are two main ways: fiscal policy and monetary policy. Fiscal policy = taxation largely, plus some subsidies. This label also includes government spending these days; once it was separated out in text books as “direct action”, “government spending” or a similar phrase. Monetary policy = changing the money supply or the rate of interest to alter the level of aggregate demand. NOTE: Since 1997 this power was removed from government and given to the Monetary Policy Committee of the Bank of England. The government is represented on this and can strongly influence its decisions but not control it. Both main ways of managing have certain implications attached: Fiscal policy: tends to have strong resource allocation effects, for example if the government increases the tax on cigarettes, it hits smokers only; if it increase income tax, it ignores those on low incomes who do not pay this tax. Fiscal changes are usually done in an annual budget in April – so a desired change can be slow to implement, as we may have to wait until April to announce it! Some changes to come might be leaked beforehand. In addition to the budget proper, the country may have a mini-budget around October. Once a change is announced in the budget, the effect is virtually immediate. Monetary policy: the government no longer can do this directly – despite its ability to influence the views of the Monetary Policy Committee. The effects of monetary policy may be slow and it can take between 6 months and 18 months to get the full impact of interest rate changes. 

What does government actually do? 1. It may try to increase aggregate demand: it might do this if it feels that unemployment is too high, and inflation is reasonably low; or the standard of living could safely be increased; or economic growth could be higher. To increase demand: 
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- Fiscal policy: • government could decrease some or all (unlikely!) taxes; • and/or spend more government money (the “G” in “C+I+G” which is the domestic component of aggregate demand). 

- 

Monetary policy: government could lower the rate of interest by persuading the Monetary Policy Committee to act. 

2. Alternatively, it may try to reduce aggregate demand: it might do this if it feels that inflation is too high, the employment level is too high, or the balance of payment is poor (imports exceed exports), i.e., we are in the middle of a boom and the government wishes to moderate it. 

3. Supply side: the government might try to push the aggregate supply curve out and to the right. This would reduce inflationary pressure. The government cannot attain all its goals at the same time because • We are not yet smart enough to know how to do this! (And probably never will be.) Some goals contradict others: to get more of one, we must have less of the other – there is a “trade off” between the two. Mathematically, it is theoretically not possible to attain ten goals with only two policy instruments. 

• 

• 

Examples of what we cannot get at the same time because of conflict • • High growth with a good balance of payments (fast growth sucks in imports). Low inflation with low unemployment - but we are better at this than we once were! High growth with more equal income distribution. Economic growth naturally causes a widening of income distribution as those who are better, luckier, more intelligent, stronger, better connected, happen to be in the right place at the right time….. pull ahead of the pack. The government may choose to step in to try to equalise it more (New Labour has so far chosen not to do so). It is possible that a wider income distribution actually assists the attainment of higher economic growth (which is part of the supply side view). 

• 
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In other words, the goals interact. The pursuit of one goal can harm (or sometimes assist) the attainment of a different goal. We live in a complex world! 

Much of the rest of unit 3 is simply explaining the details of the above. What each item is; how we define individual items; what the government does with them and how it does this; what diagrams we can draw to illustrate the workings of the economy and then use them to analyse what is currently happening or what might be done if some other equilibrium position is desired. 
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3-2. INFLATION 

We need to understand how to measure things like the level of inflation, the level of unemployment, the balance of payments and the size of gross domestic product. Why? • If we are to see how well the economy is doing we need to be able to measure the degree of success. If we want to know if government should intervene or not – and if so, whether it might wish to expand or to contract the economy. And, in general terms, we need to understand how we measure so that we know exactly what we are talking about! We need the information about measurement methods for use when answering exam questions. Finally, we need to understand how we measure to make sense of the actual models we use later. 

• 

• 

• 

• 

THE RETAIL PRICE INDEX Inflation is an important economic goal and it matters to a lot of people. For such reasons, we have to know how much prices are changing or have already changed, which means that we have to take measurements in some way. It is clearly impossible to go to each shop in the country and price each item once a month! So we have devised an index to simplify the task. We take a “basket” of goods and services, typical of what people buy, and price these goods and services at a base date. Then we look to see what has happened to the prices of the individual things in the basket since then and tot them up. The government has done this since 1947. Details: over 600 goods and services go in the basket; once a month we take over 120,000 samples of prices of these 600+ items. This is a bit tricky: the supermarkets, corner shops, 24/7 stores and so forth all have different prices and in addition some areas like London are dearer than others. Then the statisticians “weight” the items – e.g. housing and transport are more important than salt in people’s budgets, so the important things are weighted more heavily than the unimportant ones. If the price of salt rises by twenty percent it really will not affect us much! But if bus or train fares went up by that percentage it surely would…. 
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If the average rise of all the items, after weighting, is found to have been 0.5% over the month, the government tells us that; it usually also tell us what annual rate of inflation this would represent and how it compares with the same month of the previous year. At June 2004, the Retail Price Index was up 1.6 per cent over the previous twelve months. The “RPIX” (which stands for the Retail Price Index Excluding Mortgage Interest Repayments – quite a mouthful!) is a separate measure, which excludes mortgage interest repayments. This is the one that the Monetary Policy Committee focuses on for its policy target, and aims for a rate of 2.5%. 

Limitations of the RPI • Not everyone is average, and consumes that exact basket of goods and services, so the RPI does not exactly fit all (but it is close for most!). Pensioners and millionaires obviously have different spending patterns and neither will fit exactly. Pensioners have their own index calculated. Many goods are “intermediate goods”, e.g., machines to make machines, so these are excluded because they are not “retail”. The underlaying rate of inflation, which includes the changing prices of everything, can be different from that reported in the RPI. The basket gets out of date: o As people change their consumption habits (e.g., there is more foreign travel now than in the 1960s – but rather less after the September 11 New York terrorist bombing). New goods and services come onto the market (e.g., DVD players) that were not in the old baskets – so we have to update the basket periodically. This is done each Spring. But after we make such a change, strictly we cannot compare the new price index with the earlier ones, because it covers slightly different goods and services, or we might have altered the weightings used. We still make the comparisons however! 

• 

• 

o 

o 

• • • 

The index does not reflect any quality improvements and these steadily occur. It is better to think of the RPI as an “estimate” rather than a hard accurate figure. The RPI does not measure the standard of living. It excludes things that have an important impact on this, such as changes in tax; changes in leisure time; changes 
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in the physical space available for enjoyment; and changes in the quality of goods and services. 

Uses of the Retail Price Index • • Unions look at it and may base their wage claims on it. The government looks at it, to decide if there is a need to intervene and manage the economy (our main interest!). Journalists look at it, to write articles explaining to people what is happening and their comments and advice might be considered by the government. Economists look at it, to help them understand what happening and of course to advise others. Investors look at it, to help decide whether to invest, when to invest, and where to invest. It is used in international comparisons to evaluate the performance of the UK and compare it with other countries. It is used to calculate the price rise allowed for some privatised industries that are tightly controlled. These were once state-owned public utilities such as the gas and electricity supply companies. The energy sector is controlled by Ofgem. The RPI is often used loosely as a measure of inflation – although it only reflects retail prices and indeed not all of those. 

• 

• 

• 

• 

• 

• 

What is inflation? Inflation means persistently rising prices; the term is not normally used by economists (although it may be by the person in the street) for a one-off price rise, for instance if the government increases the level of VAT. 
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What can cause inflation? • • Demand pull = demand exceeds supply at prevailing prices. Cost push = a shortage of raw materials causes their price to rise; these force up the costs of our producers. Rising import prices can similarly push up our manufacturing costs, as can wage-push inflation. Hybrid inflation = a mixture of the first two. Either starts the process off, then the other jumps in; they may then alternate in an on-going process. Government policy can do it, forcing us up the Philips Curve (more later); or the government might increase spending before elections to put more people into work and gain support (this is really a special form of demand pull). 

• 

• 

We will investigate the problem through our aggregate supply and demand model later. 

Some Problems with inflation • Those on fixed incomes lose out (pensioners, students…). This also changes income distribution. Those on sticky incomes lose (often public service workers, as it is not easy to increase their wages). If inflation is too high, it puts entrepreneurs and business people off, so they will not invest as much. Less investment now means slower growth in future. 

• 

• 

Benefits of inflation • Moderate inflation can encourage entrepreneurs and business to take risks and invest, leading to a higher growth rate and less unemployment. We are used to inflation and seem to feel comfortable with it. We are not sure what to do if we face deflation (generally falling prices), e.g., Japan has been stuck in recession since 1990 and also deflating in the last few years. There are signs in 2004 that this may be ending. 

• 
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Problems with low price rises or even deflation Low rates of inflation = the situation we are in now (2004). • It may turn into a long-run recession with the danger that we could get stuck, like Japan. If this happens, we get low rates of growth, high unemployment and possibly the development of international protectionism and “beggar my neighbour” policies. When the economy is growing slowly it makes it harder for the government to introduce changes; with fast growth, everything is buoyant, government revenue is up and they can do a lot. When it is harder for the government to make changes it may mean that downturns in the economy are likely to be more severe and long lasting. The ability to use monetary policy gets weaker when prices are not increasing much – it is harder to stimulate the economy by reducing interest rates. 

• 

• 

• 

• 

• 

Benefits of low price rises 

Consumers gain, as goods and services rise little in price. • Fixed income (and sticky income) people gain; groups such as pensioners and students are helped. A low rate of inflation encourages investment, as people can make a paper profit easily. Risks are reduced if everyone knows what prices to expect. 

• 

• 
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3-3. THE LEVEL OF UNEMPLOYMENT 

Why do we measure unemployment? • • Unemployment is seen as a social evil, that should be tackled – we need to know the level of unemployment to see how well the economy is doing. The government needs to know so it can intervene if necessary. Government may decide to alter the level of aggregate demand or institute special policies e.g., sponsored training schemes, or expand jobs in the public sector. We need to know the level of unemployment for social welfare purposes. The government need to budget and wants a forecast of future payment levels to the unemployed and other social security benefits. International obligations – the United Nations makes us collect data on unemployment – all members of the UN accept the rules as a condition of membership. Trade unions, political parties, the Confederation of British Industry, and doubtless others, would strongly object if we stopped collecting the data. So we could not stop anyway! 

• 

• 

• 

How do we measure unemployment? (This was mentioned briefly last time). We take the number actually unemployed and divide it into the number in the workforce to get a percentage, e.g., 3.0%. There were 28.3 million in the UK workforce in July 2004. But it is not easy to determine who is unemployed or who is in the workforce. The “workforce” means those who are 16 years and older who work for pay or else register as “available” for such work. This excludes students, housewives or househusbands, pensioners and the early retired, and all who do not bother to register themselves. There were 29.7 million economically active people at mid 2004. There are two ways we measure unemployment. Method 1 The claimant unemployed. This includes those who claim benefit within the last month (the “job seekers allowance”); the measure is taken on the second Thursday of each month. It excludes all those not eligible for benefits; all men over 60 years; and all those registered at private commercial job-finding agencies but not state ones. It includes fraudulent claimers, e.g., those working but claiming benefit at the same time. 
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It is generally thought to ignore “hidden unemployment” and thus underestimates the real figure. At mid 2004 the claimant-based rate of unemployment was 2.7 %. Method 2. The survey method. This is a standardised international measure, based on the International Labour Organisation method (ILO). There is a quarterly survey of 61,000 households – a person is counted as “unemployed” if they say they have no job but have actively sought work in the last four weeks or they are waiting to take up a job offer in the next fortnight. This measure probably overestimates the degree of unemployment as people can easily claim they are looking for work when they are not! At mid 2004: the Labour Force Survey-based rate of unemployment was 4.8% (cf. 2.7% by the claimant method above). Some problems involved in unemployment include: • Issues in being able to find work: o o Where a person lives (in the north-east it may be hard to find job, in London it is easy). Gender – males are less likely to be fired than females; but unemployed females are more likely to be offered a job than men. However, this is likely to be part-time work even though many might prefer a full time position. Race – whites are more likely to be offered work than non-whites. Age – youth are less likely to be offered a job, as are older people, say over 50 years of age. 

o o • 

Seasonal adjustments - some jobs are more on offer at certain times, e.g., fruit pickers or when school leavers flood onto the market seeking their first job. The government adjusts the unemployment figures to take account of it (this is called “the seasonal adjustment”). The time unemployed: the average can mislead. Some people stay unemployed for long periods and may never find work, even if the average length of unemployment is only a few weeks. Also, if a person is unemployed for more than about two years (USA case studies) the person tends to lose their work habits, becomes unpunctual, and may not bother to turn up if he or she does not feels like it. Such people give up in effect, and may never work again. 

• 
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Types of unemployment and the role of the state in tackling them Other than giving unemployment pay to those who have paid for their stamps (national insurance), we usually do better by tackling the cause of the unemployment if we can. These causes can be: • • • • Deficient demand. Structural. Cyclical. Frictional. 

Deficient demand If the cause is deficient aggregate demand: the government can simply increase demand. Structural unemployment At any one time, some industries are dying and have surplus labour with skills that fit that industry; and some industries are growing and are short of people, particularly those with the necessary new skills. A major cause of structural unemployment is a change in demand in consumer markets, together with the time lag needed to educate and reeducate people. In addition to changes on the demand side, some technology changes on the supply side mean we also need new skills, for example computer scanner repair workers. We always see a mismatch between the skills workers have and the skills employers need, because society is constantly changing. Note: manufacturing is a dying area and service industries a growing one in all developed societies. This has strong implications for the type of education we need and the training in particular skills. 

To tackle structural unemployment the government may: a) Provide information on what jobs are available as well as likely in the future. This can be done via job centres, advertising on TV, informing careers advisors in schools and the like. b) Help people to move away from the area of low job opportunity in which they live. Some possibilities include: subsidise travel to look for work; pay all the costs of selling the house and buying a new one elsewhere; allow people in council accommodation in different local authorities easily to exchange dwellings; make all pensions transferable between companies. 
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A major problem is the house cost around the South-East of England. Prices are so high compared with the North. A minor problem is that welfare payments allow people to stay where they happen to be born, even if there is no work there for them. People often do not or will not move: • • • • Some people do not want to move away from their families, friends and social groups or clubs of which they are members. Some people often unaware of the possibilities elsewhere (lack of knowledge). Local accents are strong and they fear they might be laughed at or not find work easily even if do move – with some justification. Sheer inertia. 

c) We may need to train and later retrain adults through life to gain new skills. Some possibilities include: subsidise retraining for the worker and for the company they currently work in; tax breaks given to those who gain a needed skill; allow the worker time off work with full pay; or “bribe” people with cash handouts. This would seem a more desirable way and less disruptive socially than moving people to new areas where they may be unhappy. 

Cyclical unemployment This is due to the business cycle. We can try to iron out booms and slumps to reduce this type of unemployment. Frictional unemployment These are people in the process of changing jobs and who are briefly and temporarily unemployed. We need do little or nothing here. The 1998 Labour “New Deal” This was partly to tackle unemployment, partly to tighten up on “dole bludgers” and persuade people to go back to work. The unemployed now have three choices: • • • Stay in school or go back to school. Find a job. Join a recognised training scheme. 
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Their benefits can be cut off if they do not do one of these. 

“Full employment” This does not mean “no one is unemployed”! There will always be frictional unemployment; some people will never work because of mental or physical incapacity. Lord Beveridge, in 1944, felt that 3% was roughly “full employment” (made up of 1% frictional, 1% seasonal, and 1% because of overseas factors like a fall in demand for some of our exports). Now we prefer to focus on the “natural rate of unemployment”, which is the level where the rate of inflation does not increase (but there still is inflation). This is abbreviated to “NAIRU”, “the non accelerating rate of unemployment”; there is a bit of confusion around this term, as some writers use it to mean the level where prices are constant, i.e., there is no inflation at all, rather than there is some inflation but which is steady. We will look at NAIRU later in more detail when we examine the Phillips Curve below. 

Demographic and social changes and employment (some points that might prove useful for exams – you never know!) • An ageing population: fewer workers exist to support the greater number of living retirees which will lead to an increasing burden on the working population. The population pyramid: this is usually a “normal” shape, i.e., it is like a pyramid. However, in developed countries such as the UK, the base is narrowing as fewer babies are being born. The government response has been to encourage people make more provision for their own old age and save more. Stakeholder pensions (2001+) encourage people to take out their own private pension plan; Independent Savings Accounts, better known as ISA’s (1998+) mean people do not pay tax on savings in an ISA account or on shares held in an ISA account. • Women have increased their share of the workforce. Generally they take part-time work more than men. This is partly because they prefer it as they may have children to cope with; for many, however, they take it because it is all that they can get. There is a problem hidden in the overall unemployment statistics in that many of the unemployed are full time males; while many of the newly created jobs are for parttime women workers. 

• 
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• 

The participation rate. This is the proportion of the working age group (15-60 or 1565) that choose to work, i.e. are in work or actively seeking work. The share of women has increased! 

Technological change and unemployment • Manufacturing industry is declining as service industries expand (these are now 70% of GDP in the UK). This means that some old skills may be out of date and are no longer needed, while the demand for new skills is high and also constantly changing. Age effects: the old learn new skills slowly if at all, so demand for them is low. One result is that it is harder for them to find a job; firms just hire younger workers. There is a normal distribution curve of intelligence (half the population is below it by definition!). In a modern society, heavily based on services and with many automated machines, the less intelligent people have fewer and fewer jobs to go for (there is less demand for their services using muscle) but the demand for the intelligent ones steadily increases. The long term prospects of those born slightly dim through no fault of their own does not look good, especially if they lack a natural talent. If someone is born with an ability to cut hair, they will probably be OK, in fact do rather well. But those with a low IQ and no natural skills may find it quite hard. There is probably a social problem in the offing here. 

• 

• 

Chap 3 - 16 

3-4. THE BALANCE OF PAYMENTS [X=exports, M=imports, FX=foreign exchange, b of p= balance of payments] 

• 

What is the balance of payments? 

It is a record of a country’s economic transactions with all other (foreign) countries. It lists the trade in goods and services, how we pay for this (or what we owe if we did not pay), and some other financial flows, like foreign investment and company dividend payments. • 

There are four categories within the UK balance of payments. In 1998, everything changed to this new method of presenting our international situation. Current account Capital account Financial account International investment position. 

1. 2. 3. 4. 

The current account includes: The trade in goods The trade in services. Income from working abroad, and from investments abroad. Current transfers: both central government and private. NB Do not learn the numbers; just get an idea of what items are included and which are the biggest and smallest – and the negative ones (which means we import more than we export). The “*” means the item or sign is worth noting. If you should get a question on the balance of payments which supplies data and then asks you about it, look for: • • • The items asterisked here in particular. Any negative items. Any really big figures. 

If two or more years’ data are supplied for you to analyse, check to see if there are any large changes, using your calculator, as these will be important. You can quote the percentage changes in your answer. 
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The UK Balance of Payments, 2003 in £ millions – Current Account 

CREDITS (Exports) GOODS Food, beverages & tobacco Basic materials Oil Semi-manufactures Finished manufactures Other goods Total Goods 10,826 3,322 14,589 54,323 102,006 2,780 187,846 

DEBITS (Imports) 21,085 6,128 10,479 55,889 138,973 2,582 235,136 

BALANCE 

-10,259 -2,806 4,110 -1,566 -36,967* 198 -47,290* 

SERVICES Transportation Travel Financial services Other services Total services 12,958 13,928 13,417 49,390 89,693 17,194 29,740 3,481 24,661 75,076 -4,236 -15,812* 9,936 24,729 14,617* 

INCOME Employment from abroad Income from investments Total income 1,116 125,224 126,340 1,057 103,186 104,243 59 22,038* 22,097 

CURRENT TRANSFERS Central government transfers Other transfers Total current transfers 4,199 8,964 13,163 10,939 12,078 23,017 -6,740 -3,114 -9,854 

CURRENT ACCOUNT TOTAL 

417,042 

437,472 

-20,430 
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Some points to know – you may be able to use some of these in questions about the balance of payments: Goods: we import a lot more than we export – especially finished manufactures and food. The balance is always negative. Services: We export a lot more than we import - although transportation and travel are usually negative (poor weather in the UK so we take holidays abroad?!). The balance on services has been positive every year since 1966 and helps us to pay for all the goods we import. The surplus on services has increased substantially since the mid 1990s. Income: we earn a huge amount in profits and dividends from investments that we have made abroad in the past; income from working abroad used to be a small negative item but became positive in the late 1990s although it is relatively small. Current transfers: This account has been in deficit every year since 1960. The government generally runs at a surplus but large deficits elsewhere ensure that the whole item is in deficit. The transfers to EU institutions go into the “other” category. The current account as a whole: a deficit was recorded in each year 1984-2003. It is most exceptional to be in surplus 

THE CAPITAL ACCOUNT = THE 2ND OF 4 PARTS OF WHOLE BALANCE OF PAYMENT This is not central to our interests for the exam: there is only ownership of fixed assets and what migrants bring in with them when they arrive (a credit item) or take out when leave (debit item). 

THE FINANCIAL ACCOUNT = THE 3RD PART OF WHOLE BALANCE OF PAYMENTS This is not central to our interests for the exam either. This account has expanded rapidly with the globalisation of the international economy and large increase in financial investment flows. 
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When a UK resident buys assets abroad, e.g., shares in a French company, it goes in here as a debit item. When foreign residents buy assets in the UK, it goes in as credit item. 

THE INTERNATIONAL INVESTMENT POSITION – 4th AND FINAL PART OF BALANCE OF PAYMENTS Also not important for us for the exam – it just shows the value of the total assets that the UK owns abroad, and assets here owned by foreigners. It is a stock figure, not a flow. 

THE 10 ECONOMIC GOALS AND THE EFFECTS ON THE BALANCE OF PAYMENTS 

If the economy grows faster If the standard of living rises If resource allocation improves If income distribution becomes more equal If inflation increases If unemployment increases Value of the pound 

The B of P worsens, as growth sucks in imports to sustain production + higher incomes mean consumers buy more foreign goods/services (*they are income elastic!). The B of P worsens as consumers buy more foreign goods and services (again, income elastic). The B of P probably improves, because the country is doing what it is best at. The B of P probably improves, as the rich reduce their purchases of foreign goods/services; but average incomes do not rise enough to suck in many new imports. The B of P worsens, as our X’s fall and M’s rise. The B of P probably gets a bit better, because incomes are lower, so consumption falls and M’s reduce. If pound gets weaker it encourages our X’s and discourages M’s, so the B of P probably improves. NB The currency may be weak because the B of P is already poor! 

We return to consider the balance of payments, particularly the current account, in the sixth unit “The UK in the Global Economy”. 
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3-5. GROSS DOMESTIC PRODUCT (GDP) 

What is the gross domestic product? The GDP is the value of all the goods and services produced within a country, usually measured over one year. 

How do we measure GDP? There are three ways of measuring: By output, by expenditure, or by income. All three methods should give same result. Why do we get the same result? Because producers have to pay to get the materials and workers they need (so they receive an income); then what is produced is bought by someone (consumers or wholesalers = expenditure; to make it easier to understand we assume that all is sold, although this is not actually necessary); and what was produced of course is output. So income = expenditure = output. Incomes consist of wages, interest, rent, and profit. Note that profit always adjusts to make incomes equal output. Why? Consider this. If we pay out £90 to make an item (it goes as income to someone) and then we sell it for £100 (which is expenditure), it means that profit is £10. But we know that incomes + profit (£90 + £10) = £100 And we know that expenditure = £100 Therefore the two are the same. So incomes must equal expenditure, as profit is always the difference between the two. Take another example. Suppose we buy for £90 and find that we can only sell it for £85? We still have £90 going to someone as income, but an expenditure of only £85. There is a loss of £5. So either profit or loss adjusts to make incomes identical with expenditure. And of course, a loss is merely a negative profit! 

See the diagram below which shows all the flows in domestic national income. 
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Buy goods and services 

Sell goods and services 

Businesses 

Households 

Supply labour, capital, land 

Pay wages, interest, rent 

You might see this diagram representing the nation’s production/income/expenditure sometimes called “the wheel of wealth”. It excludes foreign trade (imports and exports) as this refers only Gross Domestic Product. We can easily add these two extra flows, but why complicate things? If we chose to do add these flows, the diagram would then represent Gross National Product as we would be considering the whole nation, not just domestic production. 

Some technical problems when adding up the GDP • For incomes, we must exclude transfer payments (they are not a reward for producing anything) like old age pensions or child support. For output, we must avoid double counting, e.g., we take just the price of a loaf of bread, not the value of the wheat, flour, transport and storage costs in addition; they are already included in the final price, as the retailer sells at a price that covers all his or her earlier costs! We use value added at each stage to avoid double counting. • For expenditure, we take the market price but we must remove VAT and other taxes which the government has put on as an extra; and we add in any subsidy government has paid, to get the true price are seeking. Because there are so many items to find and add up, the three methods are never quite identical in practise – in the real world there is a statistical discrepancy (people make mistakes in recording, there are time lags in pieces of paper moving 

• 

• 
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about, some get lost and so forth) and we use a “balancing item” to make the figures exactly the same. It is usually quite small. 

“Gross Domestic Product” and “Gross National Income” (GNI) GNI is obtained by adding foreign-earned incomes from property owned abroad or employment abroad to GDP (remember that “income” is the “I” bit of “GNI”). 

“Gross National Income” and “Net National Income” (NNI) To obtain net national income we subtract a percentage from gross national income to allow for capital which wore out or became obsolete in the year we are looking at. In short, to get from gross to net, we make an allowance for the depreciation of capital. It may seems complex but all you have to remember is: “Domestic” means no foreign sector is included. “Gross” means no depreciation for capital has been made. “Product” means output, and excludes incomes coming from (or to) abroad. “Income” means we do include foreign income flow. We can combine these words to get different measures. We chose the measure we need to answer the question we are asking. The simplest is GDP, it is the one that is most used and you will encounter, and it is the easiest to find for more countries. 
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3-6. ECONOMIC GROWTH 

What is economic growth and how is it measured? Economic growth is the increase in output of the value of goods and services in the country, usually measured over the period of one year. In a developed country we typically get a figure like 2.5% or 3.1% - but for a fastgrowing poor country like China, it may be as much as 7%-10%. 

We can see growth as a movement of the production function in an outward direction. (Here we have chosen to look at growth over four years but annual growth rates often interest us more.) ppc = production possibility curve. 

Starting at C on ppc1, economic growth causes the production possibility curve to shift out to ppc2, to a new equilibrium position at D. 

Apples 

A2 A1 

D C 

ppc 2 (4 year's time) ppc1 (now) 

0 

B1B2 

Bananas 

Only two good are shown - but it works for any number – I cannot draw four-dimensional (or more) diagrams; I am not even good at 3D! 
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Nominal and real economic growth Nominal growth includes price changes and, if there has been any inflation, it exaggerates the measured rate of growth. Clearly, if all prices were to double but output were to remain the same, it is not true to think that we have a hundred percent growth rate! “Nominal rate of growth” = change in GDP over the year (e.g., 2.9%). “Real rate of growth” = GDP minus the rate of inflation; e.g., if inflation is 1.4%, the real growth rate is (2.9 - 1.4) = 1.5%. 

Growth as an indicator of the standard of living Growth is often seen as most desirable, especially by governments. Growth is one of the ten economic goals (remember these?) and higher growth is often thought to be better, although some people criticise high growth rates for their effects on the environment. A high growth rate is limited, or perhaps can be even misleading, as an indicator of improved living standards. 

Growth over time within one country: limitations as a measure. NB these points are also virtually identical with problems in the use of GDP per capita as a measure of the standard of living. • Economic growth excludes much that goes into the standard of living – e.g., the environment (air or water pollution, availability of parks and green space; or the numbers unemployed). The hours worked are not examined: if we all double our hours worked and GDP rises by 5%, it looks good with 5% “growth” - but most would agree that we are actually a lot worse off! Leisure is excluded from measurements of economic growth. Free services or goods are excluded: for example, the work of housewives or househusbands; all voluntary service like teaching computing for Age Concern; looking after a relative as a carer; and the free exchange of labour in service swap schemes such as babysitting clubs. A change in GDP can be caused by changes in aggregate demand – if demand falls in one year, growth can be negative – then if demand increases, growth bounces back strongly. This kind of yo-yo effect can be most misleading and careful selection of starting and stopping years can yield opposite results! 

• 

• 

• 
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Examine the diagram below. If we choose the years T1 and T2, we get a strong growth rate on Line 1. Contrast this with choosing years T3 and T4 on Line 2: there is a negative growth rate! Be most careful when listening to politicians when they are talking about changes over time; some of them have a nasty habit of selecting those years that favour the argument that they wish to make! 

Gross Domestic Product Line 1 GDP Line 2 0 T1 T2 T3 Time in years T4 

We need to measure “the underlaying rate of growth” to make a sensible comparison over time. This measures what the economy could produce if demand was enough to buy all that was produced. • Measuring economic growth should be done on a per capita basis – if GDP increases 2 per cent but population increases 4 per cent, people are definitely worse off on average. We know that environmental damage is excluded. A related problem is interesting! If we damage the environment, then spend £100 million putting it back the way it was, the GDP actually increases by £100 million - and on paper we are “better off” and we have growth! Crime is naturally excluded from GDP as it is not desirable – but if crime increases and we spend £100 million on more police to combat it, then again the GDP rises by £100 million and on paper we are “better off”. Few would actually feel this to be a real improvement perhaps. As we enjoy economic growth, it is quite possible for income distribution to have got worse! It is true we have growth, but the standard of living could have fallen for the majority of the population. 

• 

• 

• 
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Comparing growth between countries can mislead 

• 

Slow growth can often conceal a better situation. As an example, let us consider the UK and Egypt. Suppose growth in the UK is 2.2% p.a., but in Egypt 3.3% p.a. This looks good for Egypt, but in reality: That country started off so much poorer that the extra one percent growth probably added much less to their output than the UK achieved. People probably worked much longer hours in Egypt. The population growth in Egypt would almost certainly exceed that of the UK, so the improvement per head in Egypt could be less than in the UK. The death rate in Egypt is higher, life expectancy shorter, and the standard of living is much lower than in the UK. 

• 

Countries do not always measure their growth rate in identical ways, although they should for proper comparisons. The quality of statistical accuracy varies between countries – the UK figures are better, for instance, than the Cambodian ones. Much more free family work is done in poor developing countries than in richer developed ones – so the figures miss out much real production that takes place in the poor countries. “The unofficial sector” or “the black economy” is not picked up in the statistics, and the size of this differs between countries, e.g., the black economy is thought to be much bigger in Italy than in Denmark. Exchange rates can distort the picture; e.g., if France used to exchange US$1 for 10 francs and the exchange rate changes to $1=5 francs, measuring the GDP of France in dollars, looks as if there has been a doubling of GDP as 10 francs now buys $2! 

• 

• 

• 

• 

What causes growth? = the sources of growth It is useful to consider this under the headings of Land, Labour, and Capital + Remainder O = f (L, N, K) + R (Recall we did this earlier). 
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A) Land factors Natural resource endowments – if a country has diamonds or oil etc, it helps! But the land factor is not enough to give growth on its own, and it is the least important of the growth factors. 

B) Labour factors • Labour skills and abilities = education and training. The more of these, the better for growth but it should be of the right kind. India, for example, has been accused of training far too many lawyers and not enough agricultural specialists. Labour enthusiasm or motivation – the more of this, the better for growth. However, it is not easy to know how to stimulate motivation. Declaring war on someone usually seems to increase it although the British invasion of Iraq did not seem to be popular or have a motivational effect. Labour numbers – the more the better if they have the skills etc. and the country does not start out with a large labour surplus. More workers are less useful in China or India than they would be in the UK or the USA. Managers’ ability, training, and enthusiasm. The higher the better. 

• 

• 

• 

C) Capital factors • • More machinery and equipment = good for growth. Higher rates of investment = good for growth, because it means more machines etc will be available. Remember that social investment like docks and harbours can pay off too. Higher rates of saving = good for growth because the country can invest more (in the short term it could harm output if it means that consumers are suddenly not spending as much, but it is generally good for the long term). Technical progress = good for growth and is the main source of growth in rich developed countries. 

• 

• 

Desirability of growth = the case for growth or the benefits of growth • Growth means we can increase the standard of living, increase GDP per head, and spend more on things like welfare, transport, education and health for example. 
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The growth we achieved in the past is the source of our present living standards, health levels, and lack of illiteracy etc. • Growth means we are able to tackle all our existing problems more easily, because we have the increased resources to do so. We probably need growth for instance, to put right any environmental deterioration. Growth means if we run into a new problem, it is easier to cope with; we are growing and thus have more surplus to devote to this problem. 

• 

Undesirability of growth = the case against growth • • • It causes environmental degradation by its very nature. Blind pursuit of growth means we may often ignore the real problems we are facing. This objection to growth is sometimes a crude “Back to nature” romanticism – growth is somehow immoral or bad. Urban congestion, high levels of stress in people, marital breakdowns, generational conflicts and the like may be caused by or at least worsened by our efforts to grow faster. Growth by developed countries has forced poverty on poor countries (probably a poor case - although the balance of division of gains does favour the wealthy and powerful). Poor countries generally are getting richer than ever before - except where civil wars, invasion or totally unsuitable economic policies have damaged or destroyed the economy. Africa is currently a case in point, with people either slaughtered or starving now or in the past in countries like the Sudan, the Democratic Republic of the Congo, Rwanda, Idi Amin’s Uganda, Charles Taylor’s Liberia and Mugabe’s Zimbabwe. 

• 

• 

A few final points about growth • Generally economists favour growth, although we are aware of the damage it can cause. If you are asked in an exam, it is usually better to decide in favour of growth, after pointing out the various problems that might be associated. The point that without growth it is harder to improve the world we live in has merit and is often worth mentioning. 

• 

• 
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• 

And you can say that careful watching and action by government may be highly desirable or essential to put right any undesirable side effects from growth. 
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3-7. AGGREGATE DEMAND AND AGGREGATE SUPPLY 

This model is the representation of the whole macro economy and this is the diagram we use to analyse any changes in it. It is crucial that you understand this model and be able to draw it from memory. (Always draw the two axes first and label them – then put in the curves and label them too! Having done this you can then start to move the curves around. Remember! Examiners see too many unlabelled diagrams.) Some standard abbreviations: Y = income; C = consumption; I = Investment; G = Government; X = exports; M = imports; r = rate of interest; Y = income; L = land; N = labour; K = capital; Ms = money supply; Md = money demanded. 

1. AGGREGATE DEMAND What is aggregate demand? Aggregate demand is the sum total of all planned expenditures by the people and government. = Consumption + Investment + Government expenditures + Exports – Imports = C + I + G +(X – M) 

The aggregate demand diagram 

Price Index 

AD Real GDP 0 

NB. The labels on the axis! This diagram is not the same as the micro demand curve! But if you can cope with the micro one, this one works in a generally similar fashion. 
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The broken lines merely indicate a gap in the number line – you need not draw these but it impresses a bit if you do! Henceforth I am dropping the break lines in the diagrams, mainly because the diagrams look cleaner that way. The amount demanded varies at different prices: the lower the price index the more is demanded (the AD curve slopes downward left to right) because of: • The wealth effect (“the real balance effect”). This says that as prices fall, we are wealthier because we can buy more with the same amount of money. Think about it! If all prices were to halve while you read this page, the money you have in your pocket and elsewhere would buy twice as much. The interest rate effect (higher inflation means a higher interest rate, which means less investment and fewer houses are demanded, as well as smaller quantities of other long life assets). The foreign trade effect. As our prices rise we are able to sell fewer exports because they are relatively expensive; and we buy more imports which are now– relatively cheaper. 

• 

• 

If w slide up the aggregate demand curve we can see what happens as the country suffers more inflation – we demand less in real terms. 

Q. What can cause a shift of the aggregate demand curve? A. Anything that affects C, I, G or X, M For example: • • • A change in attitudes: if we experience a reduced desire to save, it means we consume more, so the “C” part increases. If the government reduces income tax or other taxes on consumption, we will consume more, so “C” increases. A fall in interest rates would lead to an increased demand to buy long-life assets which are usually bought with borrowed money. This means investment rises; perhaps business people buy new machinery which means the “I” part increases. An increase in the money supply would reduce the rate of interest, again meaning people invest more so “I” increases. If the government decides to spend more it means the “G” part increases. 

• • 
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2. AGGREGATE SUPPLY What is aggregate supply? Aggregate supply is the sum total of planned production. In the diagram it is often called the Short Run Aggregate Supply Curve (SAS). The Long Run Aggregate Supply curve is the vertical part only of the SAS curve. (And see below p.125 for an alternative diagram) 

Price Index 
SAS1 
110.0 100.0 

90.0 

0 

Real GDP 

It is that shape because rising prices encourage producers to expand their output as they believe that they will make extra profits. 

3. THE EQUILIBRIUM LEVEL OF NATIONAL INCOME This is determined by aggregate supply and aggregate demand. 

Price Index 

SAS1 
110.0 100.0 90.0 0 GDP1 AD1 Real GDP 
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Guess where the equilibrium is? Right! At the intersection of AD and SAS1. 

4. ALTERING THE LEVEL OF NATIONAL INCOME A change in the level of GDP must be a result of either a change in aggregate demand or in aggregate supply or perhaps in both, because these two determine where the level of GDP actually is. 

How do we show an increase in demand? We push out the aggregate demand curve, just as we would in the micro diagram. 

Price Index 

110.0 100.0 90.0 AD1 0 AD2 Real GDP 

Q. What can increase aggregate demand? (which of course = C + I + G + X - M) A. Anything that affects C or I or G or X or M can change the aggregate demand curve! Examples: • An increased desire to consume more (an increase in C). • An increase in government spending (an increase in G). • An increase in export sales (an increase in X). 
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How do we show an increase in SAS? Push it out to the right = more is supplied at any given price level. 

Price Index 
SAS1 SAS2 

110.0 100.0 

90.0 

0 

Real GDP 

What can push out the SAS curve to the right? • • • An increase in the quantity of factors of production. Better quality of factors. Better ways of using or combining the factors (L, N, K) + R. 

Some things that can push out the SAS curve: • • • • • • • • New technology is introduced (= better K). Investment increases (= more K). Productivity increases (perhaps workers work harder, or managers try harder, take new training courses, or work longer hours). More migrant workers enter the UK (= an increase in the supply of N). An increase in the hours worked by labour (= an increase in the supply of N). Better education or health of workers and managers (= better quality “N”). An increase in Direct Foreign Investment from abroad (= more K; and possibly better K). A reduction in taxes placed on firms and companies. 

Changing the level of equilibrium We put the two aggregate curves together to get equilibrium and then shift one of them, just like in microeconomics. Let’s increase demand! Maybe exports went up, the “X” bit of total aggregate demand C + I =G + X - M 
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When aggregate demand increases we can see that output expands from GDP1 to GDP2 and the general price level rises from P1 to P2. The increase in GDP is accompanied by a slightly higher rate of inflation. 

Price Index 

SAS1 
110.0 P2 P1 90.0 AD2 AD1 Real GDP 

0 
Now let’s increase supply! 

GDP1 GDP2 

When we increase the short run aggregate supply curve – perhaps a sudden increase in immigration has added to the labour supply and pressured wages down a little – we can see that again GDP increases, but this time the price level falls, from P1 to P2. 

Price Index 

SAS1 SAS2 
110.0 P1 P2 90.0 0 GDP1 GDP2 AD1 Real GDP 
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The long run aggregate supply curve (LAS) The long run aggregate supply curve is vertical – it shows us what the maximum output can be at the time we are examining. It usually drifts out to the right over time, as productive capacity increases. This is because of things like a greater capital supply, better technology, better management, improved skills and training of labour – all the things that go into the production function in fact. 

Price Index LAS 

110.0 100.0 90.0 0 Real GDP GDP1 

The movement to the right of the LAS is often called “the underlaying rate of growth”, showing us what we could manage if all our capacity were in use. You can see this in the diagram below. 

Price Index LAS1 LAS2 

110.0 100.0 90.0 0 Real GDP GDP1GDP2 
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The fun starts when we combine the short and long run curves together In this diagram we can see that the short run equilibrium position is to the left of the maximum possible. Now this we can manage easily! 

Price Index LAS SAS 

AD 0 
GDP1 

Real GDP 

What we cannot do is get a short term equilibrium greater than we can manage! The attempt to do so is shown in the diagram below. 

Price Index LAS SAS 

AD 0 
GDP GDP1 max 

Real GDP 

Clearly it is impossible to produce more than the most we are able to produce but that it was the economy is trying to do! 
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So what is going to happen? 

We are experiencing boom conditions, with a lot of excess aggregate demand and all that can happen is that prices will rise – and rise quite a lot too! The demand curve AD intersects the long run supply curve (the maximum output possible) and we cannot get to GDP1 at all. What we do find is a level of national income GDP max and a price level as high as P. 

Price Index LAS SAS P 

AD 0 
GDP GDP1 max 

Real GDP 

5. MACROECONOMIC POLICY – WHAT THE GOVERNMENT DOES OR TRIES TO DO 

Recall the economic goals. 

As you know, there are about ten major economic goals for all countries (the main four goals for many governments are asterisked, but each government chooses for itself). Their actual order depends on the priorities of the government of the day. • Resource allocation. • Economic growth.* • Standard of living. • Income distribution. • Inflation.* 
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• • • • • 

Unemployment.* Balance of payments.* Value of the currency internationally. Protecting the environment. Avoiding unwanted fluctuations in any of the above. 

Even if a country has no policy on some of them, the issues do not go away! 
NOTE: this is a useful list to remember. Any event can be analysed using this list as a framework for thinking. For example, the effects of an earthquake; or a new government after a general election; or a new tax being introduced. Any such event will have an effect on some, perhaps nearly all, of these goals. If you learn the goals and think of them, it can save you overlooking valuable points when preparing your essays or answering questions in the exam room. 

There are trade offs between goals; we cannot get them all at once – e.g., if the economy is growing fast it usually means: 
• • • • • • 

Higher prices. The balance of payments deteriorates (imports increase). Income distribution widens. The currency may strengthen (if people around the world believe the growth is permanent and the economy will continue to be dynamic). Or it may weaken (if people believe the economy is out of control and inflation will continue). The environmental situation may worsen, e.g., there might be more air and water pollution, or traffic delays could be longer. 

The main question for economic policy is where do we want the equilibrium level of GDP to be? 

It is the government’s choice as to where it wants it – but we may not get there! Economic policy is the effort of trying to get from where we actually are to where the government wants to get. 
Let’s look at a new diagram that can show the level of national income as a continuum from dire slump to mega boom. 

When output is zero (at the left hand end of the Real GDP axis) we can start to produce without any inflation because there is a huge amount of surplus capacity of both 

Chap 3 - 40 

machines and workers. This means the aggregate short run supply curve is a horizontal line. When we run out of capacity and have no spare machines or workers, (towards the right hand end of the Real GDP axis) there can be no short term increase in output and if demand increases further prices must simply rise. This means the aggregate short run supply curve becomes a vertical line. As we move from the horizontal to the vertical segment, there will be a gradual increase in the slope, as we start to run short of a few machines or types of workers, but not all. So the aggregate supply curve looks like this. 

Price Index 

SAS1 

110.0 100.0 

90.0 

0 

Real GDP 

We can use this overall SAS curve to look at the three basic areas the economy can be in: slump, boom, or just about right. I know this sounds like the Goldilocks theory of economics but it is a fair description. Take a look at each aggregate demand curve in the diagram below. 

Price Index 

SAS1 

110.0 100.0 90.0 AD1 0 AD2 Real GDP AD3 
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AD1 = slump or depression: the Keynesian World 

Here we see: underused land, labour and capital (unemployment being the most obvious); low growth rates; and a low rate of inflation. We are losing potential GDP that we could enjoy. Q. When we are here, what do we wish to do? A. Increase output, reduce unemployment, and boost growth. The remedy to adopt is to increase aggregate demand! This will slide us out along the SAS curve and increase the level of GDP, so employment and output rise. We can achieve this without any danger of inflation as we are well to the left of the diagram (see the diagram below). 
• 

We can best use fiscal policy for this – reducing tax will increase consumption or investment quickly and easily. This is a basic Keynesian policy and it works when we are around AD1. Monetary policy may not work well in a slump, so it is perhaps best avoided. We cannot force people to borrow and consume, or borrow and invest, just by lowering interest rates. 

• • 

Depression: increase aggregate demand Price Index 
AD2 110.0 100.0 90.0 AD1 SAS1 

0 

GDP1 GDP2 

Real GDP 

As demand increases, we can increase output but without suffering from inflation. 
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Now look at the original AD2 in the second diagram back = the usual situation we are in. (We use it in the diagram below). 

We see reasonably good levels of output, growth, inflation and unemployment, with perhaps a small deficit on the current account in the balance of payments. Q. What might we want to do? Maybe nothing – the government might accept that it is OK to be where we are. Or they may try to “fine tune” the economy i.e., to alter GDP a little bit up or down. The government might fear that a boom is in the offing or a slump is likely to occur and may wish to try to offset it. If the government thinks exports might slump, the government might wish to increase investment to offset this, and thereby maintain the level of aggregate demand. If the government decides to increase aggregate demand, it can increase the level of GDP (= growth) and reduce unemployment, - but at the cost of higher prices as we slide out along the SAS curve. 
Price Index SAS1 

110.0 100.0 90.0 AD1 Real GDP GDP1 GDP2 AD2 

0 

If the government decides to reduce aggregate demand, it can lower the level of GDP and reduce the rate of inflation - but at the cost of higher unemployment, as we slide back along the SAS curve. 
Price Index SAS1 

110.0 100.0 AD1 90.0 AD2 0 Real GDP GDP2 GDP1 
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The government may use fiscal or monetary policy (or both) should it wish to adopt either of the above changes; and either policy should work. 

The original AD3 in the fourth diagram back - full employment = the Monetarists’ world 

We would be experiencing low levels of unemployment, higher inflation, decent growth, and probably a deficit on balance of payments. Q. What might we want to do? The government could just accept it as being desirable. It is more likely that they would decide to reduce the level of demand in order to pull the economy back. The reduced demand would help to tackle inflation and reduce the degree of over-full employment. In the diagram below, you can see inflation reduces from 125.0 to 108.5, and GDP falls slightly, taking the heat out of the system. 

Inflation & full employment: reduce aggregate demand Price Index 
SAS1 

125.0 

108.5 100.0 90.0 0 AD2 

AD1 

GDP2 GDP1 

Real GDP 

At this extreme right hand of SAS curve, monetary policy can be used easily – reducing the money supply will reduce inflation. If we want more growth when we are at full capacity, in the short term we can do little. We cannot increase aggregate demand to give us a higher GDP because we are already at the limit. An increase in AD would merely lead to a further price increase. So we have to tackle the supply side and think longer term. In the long run we can try to push the aggregate supply out to the right – to get more growth. 
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Price Index AD1 125.0 

SAS1 

SAS2 

104.0 100.0 90.0 0 Real GDP GDP1 GDP2 

We shall look at the supply side controversy later in more detail. 

You can also use our original diagrams to show the boom, slump and “got it right” positions, but I personally find them less illuminating as there is no visible portion where the economy is gradually running out and prices are starting to rise then accelerate. 

Price Index LAS SAS 

Price Index LAS SAS 

Price Index LAS SAS 

AD 0 Real GDP BOOM The equilibrium of short run demand and supply are trying to take us past the total amount possible. 0 

AD Real GDP SLUMP The equilibrium of short run demand and supply is below the total amount possible. 0 

AD Real GDP Long & short equilibria are together. 
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TIME TO PLAY! MOVE THE AGGREGATE DEMAND CURVE AROUND! 

Start in a recession - you draw a diagram of a slump now, using the short run aggregate supply curve below and adding the aggregate demand curve. 

Price Index 
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Q. What happens if the government hires and pays a lot of workers to dig holes and fill them in? Draw this effect on the diagram. Which part of aggregate demand increases? Q. What happens if government reduces income tax substantially? Again, draw it in a diagram. Which part of aggregate demand increases? Q. What happens if government increases pensions a lot? Which part of aggregate demand increases? Q. What happens if the Monetary Policy Committee reduces the interest rate? Which part of aggregate demand increases? 

You can repeat the exercise, asking the same questions, for the AD2 and AD3 positions. 
You benefit a lot from playing around like this, asking questions, and using the diagram to help you answer them. That is really what a lot of exam questions are seeing if you can do! 
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THE MULTIPLIER 

If we change aggregate demand by a given amount, the level of GDP alters by more; the multiplier measures this relationship. For example, if we increase consumption by £100 million and find that gross domestic product increases by £320 million, the multiplier is 3.2 (320 divided by 100). 
Why does this happen? 

It is not difficult to understand. Assume I buy something from you for £100 – you will spend some of it, perhaps ninety per cent, or £90. Whatever you buy from someone else, they get the £90, and spend some of it – this time £81 (90%). Already you can see that total spending has been £100 + £90 + £81 or £271 in all. And the chain is not yet ended! Eventually, the total spending resulting from the first £100 I gave you will reach £1,000. In this case the multiplier is exactly 10.0 What can we use the multiplier for use? If the government wishes to add £900 million to GDP, perhaps to reduce unemployment, it needs to know how much it should alter, say, income tax, in order to get the desired initial change in consumption. Assume you are an economic advisor to the government – if they ask you “how much should we alter tax?” you could not get away with saying “Quite a lot!”, “More than you might imagine!”, or something similar. The government would want an answer in number form and that is what the multiplier provides. 

THE INTEREST RATE AND THE LEVEL OF INVESTMENT 

(Or how government changes the level of investment in order to alter the level of real GDP). If we lower the rate of interest, the level of investment should increase. Why? Businesspeople will wish to increase their investment (to make a profit) because they can now borrow more cheaply. The demand curve for investment (“the marginal efficiency of capital curve”) is ordinarily shaped, downward left to right. 
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Rate of Interest 

r1 

MEC1 

0 

Inv 1 

Investment 

So if we reduce the rate of interest, we can see more investment will be done. 

Rate of interest 

r1 r2 
MEC1 

0 
A typical scenario: 

Inv1 Inv 2 

Investment 

a) If the rate of interest is reduced by the Monetary Policy Committee of the Bank of England, the members hope it will increase the level of investment (the “I” bit of C+I+G) – and perhaps add to consumption, maybe housing and the purchase of long life goods like `fridges (the “C” part of C+I+G) b) This in turn pushes up the aggregate demand curve. c) Which increases the level of GDP; and reduces the rate of unemployment; and probably increases the price level. A question to think about. When would it not increase prices? Hint: look at the earlier diagram with three different AD curves on it. 
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3-8. MONEY AND MONETARY POLICY 

MONEY 

Definition: money is anything generally acceptable in payment of a debt. It can be (and has at various times and places been) things like sea shells, cigarettes, or bottles of rum. But these are very rare instances! 
The functions of money (= what is it for?): • • • • 

A medium of exchange A unit of account A standard of deferred payment A store of value 

Classification of money (There are lots: M0-M12 or so) 

There are many ways of measuring the money supply – but only two really matter to us. 1. M0 = narrow money = notes, coins and bank balances deposited at the Bank of England; in May 2004 it was £41 billion. M0 had a growth rate of 6.0 per cent over the twelve months to July 2004 (provisional figure). 2. M4 = broad money = M0 + all sterling deposits with banks and similar organisations (those that the Bank of England allows to take customer deposits); at April 2004 it was £1,095 billion, that is, it’s much larger than M0. As a result, many observers focus on M4 as the main one to be looked at. M4 had a growth rate of 9.7 per cent over the twelve months to September 2004 (provisional figure). [Remember! It is useful to scatter the odd statistic in your exam answers – it can impress the marker that you are interested and aware. That can gain you marks if s/he is uncertain whether you really understand something; it can help you get the benefit of any doubt.] M4 contains: 
• • • • • • 

Notes & coins. Operational balances at the Bank of England = bankers’ balances = bank deposits at Bank of England with which each bank can settle its debts to the others. Sight deposits = current accounts = no-notice accounts (can be withdrawn immediately). Retail deposits = all bank deposits less than £50,000 + building society deposits which require less than 1 month notice. Wholesale deposits = deposits £50,000. Time deposits = bank accounts requiring notice. 
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The demand for money 

Keynes postulated three demands for money to hold (rather than use to buy bonds). This is called “the liquidity preference theory”. 1. Transactions demand = to buy things with in normal daily life. 2. Precautionary demand = in case anything goes wrong, it is good to have some cash around for the sudden emergency. 3. Speculative demand = to buy bonds when one is ready to do so. This demand is our focus of attention. When the price of bonds is high, the rate of interest must be low (why? See below “Monetary Policy”), so people expect bonds to fall in price; therefore it is sensible to hold money (demand money) to buy the bonds later. So at low rates of interest, more money to hold is demanded. This gives us a normal shaped demand curve. 

Rate of Interest Demand for money 

0 

Money 

Determining the rate of interest = the supply of and the demand for money 

We know the demand curve – it just is what it is. And the supply of money at any point in time is fixed (by the Monetary Policy Committee of the Bank of England). Because it is fixed, it is represented as a vertical line. 
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Rate of Interest Sm 

0 

Money 

Putting the demand for and the supply of money together, we can see the equilibrium level of the rate of interest. 

Rate of Interest Sm 

r1 

0 

Money Qm 

MONETARY POLICY 

Monetary policy is a second method of controlling the economy (the first was fiscal policy). As you know, since 1997, monetary policy and the fixing of interest rates is undertaken by the Bank of England. The interest rate is set by the Monetary Policy Committee which meets monthly. The government has given the Bank of England an inflation target of 2.5% p.a. to strive for and the Committee has to set the rate of interest to try to achieve that target. Currently (October 2004) the base rate is set at 4.75 per cent but keep an eye on this in the press; it will change. 
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How does it work? 

The Monetary Policy Committee merely announces a change in the central bank rate, e.g., a reduction of half a percent. Practically, to achieve this, the Bank has to buy bonds, which increases their price (via normal supply and demand), which reduces the rate of interest. This is now explained. If a bond is issued with nominal price of, says £100 and at 10%, it means that this bond will always pay £10 p.a. Then let us assume that the rate of interest falls. If we choose to invest a new £100 in bonds, we will now get only £5 p.a. back. But the old bond still gives £10 p.a. Q. How much do you have to invest now to get £10 back? A. To achieve a return of £10 p.a. a person would need to invest £200 at the new lower 5% interest rate – so an existing bond returning its fixed £10 p.a. must now be worth £200 also. Therefore the price of the original bond rises to £200. You can see this in the table below. 

Nominal price of bond 1. 2. £100 £100 still 

Rate of interest 

Amount paid by the bond each year £10 £10 

10% 5% 

Actual market price (what it is worth) £100 £200 

You can see that at a low rate of interest the price of bonds is high and vice versa. 

We can see the rate of interest by means of a diagram of the liquidity preference theory of money 

When the Bank of England wants to reduce the rate of interest, it buys bonds, pays for them, and this increases the supply of money in circulation. This is known as the Bank engaging in “open market operations”, whether buying or selling. We can see this happening in the diagram below, when the supply of money increases from Sm1 to Sm2. 
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Rate of Interest Sm1 Sm2 

r1 r2 

0 

Qm1 Qm2 

Money 

This increase in the money supply in the above diagram ensures the rate of interest falls from r1 to r2. 

The reduction in interest rate then leads to an increase in investment done: 

Rate of Interest 

r1 r2 MEC1 Investment 

0 

I1 I2 

Which in turn causes the level of aggregate demand to increase as the level of investment rises: 
Price Index SAS1 

110.0 100.0 90.0 AD1 Real GDP 0 GDP1 GDP2 AD2 
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So that gross national product rises from GDP1 to GDP2. And of course employment will certainly increase as the level of GDP rises. 

Monetarists v Keynes 

In the 1950s and the early 1960s, developed countries followed the Keynesian view. This held that money was not very important in determining the price level; and it was believed that interest rate changes did not work well to alter spending (which was roughly true back then, although it was based on the situation in the Great Depression through which Keynes lived). Then the Monetarists emerged – led by Milton Friedman – and they said that the supply of money really did matter. They used an old formula: 

MV = PT 

Which said that money times velocity (its turn-over) = price level times transactions (which is a truism i.e., it is always true whatever level these items actually take). But they went further. If we believe that velocity (V) is stable (that it does not change much) then a change in M = a change in PT. When we are at full employment, we know that we cannot increase T (by definition! We are unable to produce more), so a change in M must cause a change in P! For this reason, it was asserted that the supply of money really does matter, and monetary policy was held to be the main one to use. In the 1960s, Keynesians still felt that fiscal policy was best; but the monetarists wanted to use monetary policy instead. By the 1980s, the monetarists dominated policy making all over the developed world and it looked like the Keynesians might have lost the argument. However, with the passage of time we found that it was really hard to control the money supply accurately, so the monetarists retreated a bit. Now: there is no real conflict; there is an amalgam of the two views! At the full employment position, for policy purposes the monetarists dominate; but at low levels of aggregate demand, the Keynesians are predominant! 
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Some important variables in controlling the economy • 

The labour market: if this is flexible (which means that wages can rise and fall easily; and people can be hired and fired easily) monetarism works well. - But if the labour market is rigid, the Keynesian approach seems to work better. - In the UK, the labour market is more flexible than it once was (and more flexible than in much of Europe), so monetarism has improved as an approach to use. 

• 

Time lags: these are longer on the money side – there may be up to two years before the full effects of a change in the supply of money have worked through. With fiscal policy, the changes are almost instantaneous. The shape of the marginal efficiency of capital curve (which is the investment demand curve). If this is very steep, then even a large change in the rate of interest will not alter the level of investment much. (see Diagram A) 

• 

• The shape of the liquidity preference curve. If it is very flat, monetarism will not work well, because the rate of interest cannot be reduced much – if the money supply is increased by the Bank of England, people just hold on to the extra money - 

(see Diagram ( B). 

Rate of Interest Diag. A 

SM1 SM2 Diag. B 

Rate of Interest SM1 

SM2 

R1 R1 

R2 

Liquidity Preference 

R2 

Marginal Efficiency of Capital 

0 
• 

Amount of Investment 
General expectations about the future A): 

0 

If people expect higher inflation, then we can have rising prices and rising unemployment at the same time. The use of monetary policy, and possibly a strict use, may be needed to break these expectations. 
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• 

General expectations about the future B): 

If business people feel very pessimistic and are perhaps on the edge of panic, the MEC can continually drift to the left. This means that nothing works much when we try to increase the level of GDP, because all the efforts to increase aggregate demand can be offset by shifts in the MEC curve! 

• 

General expectations about the future C): 

If business people are hugely optimistic (which means the MEC may shift out rapidly to the right), we may need a strong combination of fiscal and monetary to rein it in. 

• 

Where we happen to be in the trade cycle matters too. – In a slump, and there is lot of unemployment, Keynesian and fiscal policy works best (i.e., we probably will not use monetary policy, especially on its own). – In a boom, when we have inflation, we are in the monetarist zone - and monetary policy works well. 

– Usually we are in the middle zone! So we tend to use a mix of both fiscal and monetary policies. Government should try to aim them both in the same direction for consistency and to avoid mixing their signals. They are not always able to do this, however, because the government has different departments and many different goals, and this fact may pull some policies in opposite directions. 
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3-9. FISCAL POLICY 

Why the government raises revenue through taxation: • • • • • 

To cover its expenditure. To redistribute income, usually from the richer towards the poorer. To reallocate resources. To change consumption patterns (reduce cigarette consumption?). To control the economy (our main interest here). 

As you know, there are two major policy instruments available to control the economy: fiscal policy and monetary policy. The government uses these to try to alter level of national income (GDP), from where we think it currently is, to where the government would prefer it. (Because of time lags in the data, we are never really sure exactly where we currently are!) 
Price Index AS1 

110.0 100.0 90.0 AD1 

0 

Real GDP GDP1 

Here, the level of GDP may be thought too low, so the government may wish to increase aggregate demand and “fine-tune” the economy. 

What is fiscal policy? 

Fiscal policy means the use of taxation (and maybe a few subsidies which are a sort of “negative tax”) to alter the level of aggregate demand. Fiscal policy aims at consumption (C) and/or investment (I) and or government (G) G is not easy to turn on and off for fine-tuning purposes. The government is unable to reduce pensions by fifty percent in order to reduce its total expenditure! Nor can it 
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suddenly stop building a motorway which is ninety per cent finished. In other words, much of government expenditure is not really discretionary at all. Changes in government expenditure are generally thought of as part of fiscal policy; otherwise we have to see it as “direct government intervention”. Some textbooks may call it that or use a similar phrase like it. If the government wishes to increase the level of GDP is means reducing some tax rates, or perhaps abolishing some tax completely, in an effort to increase C or I. Fiscal policy can also have a strong affect on income distribution. The main aim of any government here is to redistribute income towards those who are felt to be deserving. These are often the poorer, but groups like farmers in all developed countries and, under President Bush the oil producers in the United States, seem quite adept at getting income to move their way. 

What taxes has the country got? 

This is purely descriptive stuff! I suggest you read it up for yourself in the latest textbook and keep you eyes on what is in decent newspapers. Each country is very different and changes its tax system quite regularly. Few books can be up to date. 

A bit of fiscal detail: A “direct tax” is placed on directly on people or companies, e.g., income tax, company tax or a capital gains tax, and such taxes can be hard to avoid. In principle they should be impossible to avoid, but in practice the rich and the powerful trans-national corporations can often minimise the tax they pay and that to a rather surprising extent. The other type of tax is an “indirect tax” Indirect taxes are mainly placed on spending; this means that if one does not buy the item, then one does not pay the tax, i.e. it is something of a voluntary tax! In the UK, value-added tax (VAT at the standard rate of 17.5%) is well-known; but we also have “duties”, such as the tobacco tax and the excise duty on alcohol. To increase the level of aggregate demand the government could reduce the rate of any or all taxes, like VAT, income tax, corporation tax etc. But such a change is normally only done in the annual budget, or sometimes in a mini-budget around October, half way through the fiscal year. So if we are considering the timing, fiscal policy is not very flexible! Monetary policy can be altered at any time, although if interest rates are altered it will normally be on the first Thursday of the month. 
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Direct versus indirect taxation 

Direct tax: This can reduce the incentive to work if it is set at high levels (the view of Prime Minister Thatcher and President Reagan). • A direct tax can be legally avoided although this can be quite difficult (tax evasion is always illegal). • A direct tax, like income tax, can be made progressive. This means that we can tax the rich proportionately more than the poor. On paper, income tax may look progressive but in practice it is often not so. Income tax is easily and legally avoided by the really rich, but the poorer and those in the middle are forced to pay. For really rich people, income tax appears to be rather regressive. 
• 

Indirect tax: 
• 

• 

This is seen as regressive as it can hit the poor more than the rich because it is a higher proportion of their (low) income. The poor also tend to smoke more than the rich, so the tobacco tax seems particularly regressive. One can avoid paying an indirect tax if one does not buy the item, e.g., as a reformed smoker I no longer pay tobacco tax or the VAT on cigarettes. 

Fiscal changes can strongly affect the distribution of income; monetary policy changes affect the distribution of income less, because they are as more general in impact. 

How the government might increase the level of national income by lowering tax 

The government might choose to reduce, say, the level of corporation tax, in an effort to encourage business optimism. This could shift the marginal efficiency of capital curve to the right and thereby increase the amount of investment undertaken. The increased investment would then cause gross domestic product to rise. (See the diagrams below). 

Pushing out the MEC curve 
Rate of Interest 

r1 MEC2 MEC1 Investment 

0 

I1 

I2 
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The government is aiming at increasing the “I” part of C + I + G + X – M The increase in investment pushes up the aggregate demand curve and real GDP increases. 
Price Index SAS1 

110.0 100.0 90.0 AD1 Real GDP AD2 

0 

GDP1 GDP2 

If the government were to reduce, say, the level of personal income tax, it is aiming at the “C” part of aggregate demand. 

Automatic stabilisers 

Automatic stabilisers are built into the system and modify its effects – they work a bit like a thermostat in a central heating system. Automatic stabilisers do not require government action or initiative; they just come into play naturally. An example is progressive income tax - any increase in income is moderated, because the tax automatically rises as income increases. Automatic stabilisers can help counteract the ups and downs of the business cycle. They cannot prevent swings, but they do moderate them. 

A FEW POINTS YOU SHOULD KNOW 

PSNCR = the “Public Sector Net Cash Requirement” which is the difference between government spending and tax revenue. Government sells bonds in order to raise money to cover the PSNCR; but to do this it will need to raise interest rates to attract more bond buyers. Raising interest rates can make private investment more expensive so it can get crowded out! 
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If revenues are greater than expenditures, we have a surplus, which can be used as a “Public Sector Debt Repayment” (PSDR) to buy back government bonds and reduce the level of national debt. What determines if there is a surplus or a deficit? 
• 

• • 

• 

The part of the trade cycle we are in. During a boom, government revenues are high (the receipts from income tax and some other taxes increase); and on the expenditure side, payments of social security benefits will be lower. Both these factors mean we can see a surplus. The passage of time – government spending tends to increase over time. Changes in the political demands of the people. If people want pensions to be higher, unemployment pay to be greater, and/or family benefits to be improved, this will lead to more expenditure. A deficit is then more likely. Government attitude – if the government wants more investment for future growth, it might try to cut PSNCR as this would help to keep interest rates down. (If the government borrows it has to increase the rate of interest which reduces private investment; as it is trying to encourage investment, the government may try not to borrow). 

NB Fiscal policy is the only one directly available to the government now. You will recall that the government gave the right to run monetary policy and set interest rates to the Bank of England in 1997. 
Some problems of using fiscal policy • • 

• 

• 

• 

• • 

The measures adopted may not be in line with the Bank of England’s monetary policy measures. Fiscal changes are only undertaken once a year in the budget – inflexible. There may be leaks in advance of what the government will be doing in April next! At best we can have an extra “mini budget” around October to improve flexibility. We cannot easily stop and start government spending – takes years to plan and push through a motorway for example; social services expenditure is not easily reduced (very unpopular!) We are not sure where we are and sometimes are uncertain as to what direction we should be aiming for (should we increase or decrease GDP?) because of data and other lags. This applies to monetary policy too. Government can be bound by its earlier promises, e.g., the current Labour Government promised not to increase income tax rates. It is difficult to use fiscal policy if one is not allowed to increase taxes! This throws the burden of adjustment entirely onto monetary policy– and it is in the hands of the Bank of England rather than the government itself. The desire for fiscal harmonisation within the European Union may mean that tax rates will be controlled in Brussels in part or whole at some time in the future. This would reduce our power to use fiscal policy. 
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• 

• • • 

• 

There is an old question of whether or not high income tax is a disincentive to work harder or longer. If it does act as a disincentive to effort, we know that tax rates have been reduced in recent years, so we should have seen an explosion of new effort. Have we? Casual observation suggests that it has not, so perhaps there is no strong disincentive. Accurate prediction of deficits and surpluses in the budget are very hard to do! Altering the level of tax may sometimes lead to unwanted redistribution effects. Unpopular fiscal change can lead to a fall in business confidence which could cause a reduction in investment and almost certainly alter the assumptions upon which the original fiscal change was based! Borrowing to meet a deficit can crowd out private investment (reducing growth; changing the framework within the government was working; and almost certainly altering the assumptions within which the borrowing was to occur). 

NB there has been no real test of fiscal policy since the government gave away its power over monetary policy as the economy has grown reasonably steadily and well. The crunch is yet to come. Only when a system is put under pressure do the hidden weaknesses emerge! 
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3-10. ALTERING THE AGGREGATE SUPPLY CURVE 

A quick reminder: we always start in equilibrium in economics. Then we alter something, usually we shift a curve which reflects some real change that has occurred, and see what the result is. When we are looking at the macro economy and national income, we have three choices . of the equilibrium in which we may start: recession, full employment, or in between 
Price Index SAS1 
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SUPPLY SIDE ECONOMICS 

When we are dealing with supply side economics, it is the right hand end of the diagram that matters. There we are at the full employment level of national income (GDP) Q. What happens if increase aggregate demand? The result must be that we can only have inflation; no increase in GDP is possible. Draw it yourself and see! We just slide vertically up the unchanged aggregate supply curve. This means that to gain more output (which would mean a higher standard of living and would be economic growth) we can only move the aggregate supply curve outwards and to the right! Pushing the vertical line to the right is the underlaying rate of growth of the economy – it is going naturally much of the time. You will recall that it is one of the main economic goals. 
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Price Index 
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90.0 

0 
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We can also see the growth that occurs by means of the production possibility frontier diagram. Starting on production possibility curve 1 (ppc1) with A1 and B1, we observe that ppc2 shows that we can produce more apples and bananas i.e. more of everything. The actual new equilibrium position is shown as A2B2, with more people preferring apples than bananas. 

Apples 

A2 A1 

ppc 2 ppc1 0 B1B2 

Bananas 

How can we move the aggregate supply out to the right, as we wish to do? • 

More efficient organisation of everything! Better factory layout; better management; better workers (in-house training); reduce management-labour conflicts; increase the flexibility of how and where the firm can use its workers; more flexible wage rates and payment methods. 
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• • • • 

More investment. New technology. Better education and training in society. Stronger work motivation among managers and workers. 

Generally, it covers all the items that are in the production function (L + N + K) + R but especially the elements within the “R” term. 

SUPPLY SIDE ECONOMICS IN MORE DETAIL 

The general views of the supply side school were popular under Prime Minister Thatcher and President Reagan during the 1980s. 1. A central idea was that there is great scope for increasing GDP and economic growth, by concentrating NOT on the demand side but on the long run supply side. As a consequence, policies to push out the aggregate supply curve were in vogue. 2. An attached idea was that there was much latent motivation and incentive to effort that was simply not being used. People were too highly taxed to wish to work harder - so reducing the high levels of income tax would release much creative effort and people would choose to longer hours and/or more intensively while they were at work. In this way the aggregate supply side would be pushed to the right as in the diagram below. 

Price Index LAS1 LAS2 
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An American economist called Arthur Laffer was associated with developing the supply side view. He felt that: 
• 

If income tax were zero the government would get no revenue (they did not ask for any). 
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• • 

If income tax were 100% the government would get no revenue (because no one would work for nothing). So somewhere in between there must be a point that would maximise government revenue. 

AND he felt that current levels of income tax were higher than they should be; so if we reduced the level of tax it would increase government revenue . In the diagram below, if we start somewhere like R1T1, with a high rate of tax T1, the government only receives revenues of R1. But if we reduce high marginal tax rates, government revenue would increase as we slide up the curve. The maximum government revenue is at R2T2, with lower tax rates and more effort, leading to greater government revenue and of course a higher output. The increase in real GDP is the aggregate supply curve pushing out to the right, which is what we wanted to achieve. It all seemed logical and plausible to many, especially to those in the higher income brackets or with a strong entrepreneurial talent who wished to keep the fruits of their labours. 

Govt revenue in pounds mills 

We may be here now R2 R1 

0 

T1 T2 Income tax in percent 

100% 

There is no need to think the curve must be symmetrical and some feel it is perhaps more likely to be shaped like the one below. The difference in shape reflects what we assume about how fast people alter their behaviour when faced with high marginal rates of income tax. 
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0 

T2 T1 100% Income tax in percent 

3. Supply siders tended to think that monetary policy should be central to government efforts to control and fine tune the economy. Hence fiscal policy should not be used once direct taxation levels have been lowered to stimulate work-effort to the maximum possible degree. They understood that changes in taxation worked on the demand side (e.g., if we reduce VAT [a sort of sales tax], people would spend more) but they were supply-siders, and therefore they did not like using the demand side much. Supply side proponents tend to be a small group and individual members may focus on different things that can push the supply curve out as a solution to the economic problem of gaining long term growth and maintaining a low rate of inflation. Here you can see output increasing and a falling rate of inflation. 
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The things that can push out the supply curve include: • • • • • 

Investment. New technology. Better education and training for workers and management. Enthusiasm, incentives, attitudes – with a predilection for tax reductions to motivate people. Lower rates of income tax (via mechanism of incentive to work longer or harder). 

Although not universally popular, the supply siders reminded us that it is important not to overlook the supply side and that long term growth matters. Tinkering with demand can mislead us into trying quick fixes for the economy, rather than promoting our long term interests. 

A reminder: are you revising something and practicing drawing diagrams each day? If not, it isn’t too late – start today! 
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3-11. THE PHILLIPS CURVE 

What is it? 

It is a curve showing the relationship between the level of unemployment and the rate of change of either wages or prices. It shows the trade-off between unemployment and inflation. The original version was wages and unemployment; later this was changed to prices and unemployment. 
What does it look like? 

The newer version, relating the level of unemployment to the rate of inflation is the one we now tend to use. 
Rate of change of prices 

PC 

0 

Unemployment 

Trace the trade-off! As we slide up the curve, a country can reduce the level of unemployment by accepting an increase in the inflation rate. Below is the original Phillips Curve which related the level of unemployment to the rate of inflation. Notice the different label on the vertical axis – it used to read “wages” but we now use “prices”. 
Rate of change of wages 

PC 

0 

Unemployment 
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The Phillips Curve was very popular in the 1960s and 1970s as governments sort to intervene and control the economy, using the Phillips Curve approach. They lowered the rate of unemployment by expanding the economy and accepted the slightly higher rate of inflation; they moved from U1 to U2, and from P1 to P2 in the diagram below. 

Rate of change of prices 

P2 

P1 

PC 

0 

U2 

U1 Unemployment 

BUT! It turned out to be useful in the short term only. Eventually people, workers and unions woke up to what was happening, and saw that inflation had increased and demanded more wages – which then pushed up inflation further. Milton Friedman pointed it out in “the expectations augmented Phillips curve”. The rate of inflation suddenly jumped up to “X” in the diagram below, rather than staying at P1. 

Rate of change of prices X 

P1 

PC 

0 

U1 

Unemployment 

This was a shock and it was not clear what was going on. Eventually we realised that what was happening was that the whole Phillips Curve was drifting up and outwards as 
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workers and unions caught on. Each outer curve represents people expecting a higher and higher rate of inflation. 

Rate of change of prices 

P2 P1 

X 

PC2 

PC1 

0 

U1 

Unemployment 

No longer are we on the original Phillips Curve, nor can we easily get back to it. We can end up with the old level of unemployment and much higher inflation! Then it got worse! The Phillips Curve continued to drift out over time as the process continued, like this: 

Rate of change of prices 

PC4 PC3 PC2 
PC1 

0 

Unemployment 

It was a time of dismay. Inflation got higher and higher, reaching an alarming 26.9 per cent a year in the UK in the month of August 1975. The level of unemployment was not low and a new term was invented: “stagflation”, where we suffered stagnation and inflation. 
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When the data were in after several years’ experience, we discovered what had been happening. After the government led the economy to slide up the Phillips Curve, people were only fooled for a time. Once they realised what was going on, they upped their wage demands to take account of the price rises that they expected. And their expectation kept rising with the rate of inflation. It took may years of tight monetary policy before we managed to break people’s expectations about high future price rises. These expectations, when graphed in the form of the data that made up the Phillips Curve, revealed that it went up, then out and round, and finally came down again. Unemployment and the fear of redundancy eventually forced workers to accept smaller wage increases which led to some fall in the rate of inflation and as people learned to expect smaller price rises, they asked for smaller pay increases, then eventually were just happy to be in a job at all. This seems to have been what caused the curve to drift back and down. But it was a most painful process, involving very high rates of unemployment, suffering, and social unrest over some years. This is what it looked like. 
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The end result of using the Phillips Curve and accepting a bit of inflation to reduce unemployment was felt to be unacceptable. The price is too high! We no longer want to use the short term Phillips Curve for policy purposes, because it eventually leads to higher inflation and then requires several years’ harsh policies to put us back on track. 

Instead, we now tend to look for “the non-accelerating inflation rate of unemployment” or NAIRU. 
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This is the point on the Phillips Curve where we can exist without forcing inflation to increase. It is hard to judge exactly where it is and it can alter as people’s attitudes and behaviour change. It is believed that it may currently be between 3.5 per cent and 5.5 per cent of unemployment. 
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NAIRU occurs where the aggregate demand for labour = the aggregate supply of labour. If unemployment is reduced below NAIRU, wages may start to rise, costs increase, and inflation accelerates. 

What can change NAIRU? We would like it to be smaller. 

More flexible labour markets helps. If wages are able to adjust in a downward direction (as the demand for particular type of workers falls) it reduces the average wage rate while allowing needed adjustments. Anything that leads to a more efficient working of the whole micro economy helps reduce NAIRU. For instance, removing bottlenecks in certain types of workers, or kinds of machinery, or particular raw materials reduces NAIRU. If we can do this, we will have a more elastic supply curve so that demand can increase, we can extend along the supply curve, and prices will not increase much. If it were perfectly elastic, people could buy more without forcing the price up at all, as in the microeconomic diagram below which represents the supply of any needed raw material. 
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